Homework 3
Java Programming
Deadline is May 23
Exercise 1: 
Given the following 4 class definitions in JAVA, where class A and class B shall belong to some package X and class C and D shall belong to some different package Y.

class A {

public int x;
private int y;
protected int z;
public A objA;
public C objC;

}
class B {
public A objA;
public C objC;

}

class C extends A {

public A objA;
public C objC;

}
class D {

public A objA;

public C objC;

}
Determine for each of the following attribute-access-expressions whether it results in an Error (Wrong) or not (OK). 
	
	in class A
	in class B
	in class C
	in class D

	x
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (

	y
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (

	z
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (

	objA.x
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (

	objA.y
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (

	objA.z
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (

	objC.x
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (

	objC.y
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (

	objC.z
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (
	OK  (  Wrong (


package X





package Y
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